Assignment 2

Due Sep 22 (M) before class.

=====================Part 1 (no submission is required)=========================

Practice makes perfect. Do and understand all exercises in Chapter 2 of Benoit Boulet’s book.

==================Part 2 (Handwritten and submission are required)==================

2.1 Exercise 2.4 of Boulet’s book.

2.2 Exercise 2.6 of Boulet’s book

2.3 Exercise 2.8 of Boulet’s book.

2.4 Exercise 2.10 of Boulet’s book.

2.5 It is known that 

x[n] (0, for N2(n(N1

h[n](0, for N4(n(N3

y[n]=x[n]*h[n] (0, for N6(n(N5

Please determine the duration of y[n].

2.6 It is known that the impulse response of a LTI system is h[n]=2-n, n>=0. The input signal of the system is x[n]=u[n]-2u[n-5].

Please derive the response of the system to x[n].

2.7 Calculate the convolution y(t)=f(t)*f(t), where f(t)=u(t)-u(t-1), and sketch y(t).

2.8 Calculate the convolution y(t)=f(t)*f(t), where f(t)=u(t-1)-u(t-2), and sketch y(t).

2.9 f1(t)=((t), f2(t)=cos((t+45o), calculate f1(t)* f2(t)

2.10 Calculate f1(t)* f2(t),  where f1(t)=sin(t)u(t), f2(t)=u(t-1). (hint: step response of f1(t))

2.11 Calculate f1(t)* f2(t),  where f1(t)=1, f2(t)=e-(t+1)u(t+1)

2.12 Calculate the convolution x(t)*h(t), where x(t) and h(t) are shown below.
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